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Je: i 1] 2 305 B BOP A g o6 & 5.
SR AN I ] SR S B AL S R ARz B I g i X5, 63) .

E)E(fvyvzﬂf)
dt

1 T 0F I 8] ) — DR e AN B9 52 OB 3SR L — A jw o A R S R
Hog—mee Rk L ERSE AR, EREIIFNEHILNGRE . AL RERS
ZARRL BRI < o 7L R A A [ f) I 3 22 (] A RE R T AR A Y Oy e AT IS B

B aRiE R 2t i iE R L AT R S R AR T R RO

= Re[wa(a‘,y,z) V2 e ]

VXH=J+iwD (5.65)
VX E =—jwB (5.66)
VeB=0 (5.67)
VeE=) (5.68)
[F) 2, 15 21 H 0 37 A8 OC R Y E OB R
D=¢E B=uH M J=E (5.69)

5.7.2 HKHETETEMEHER

X FAESZ I AR LRG3y 2 sy = O 1] (8000 AH £ X5 AR (] B, B B E Ok 6 1) I B A Ry
S(t) =E, cos(wt + $£) X H, cos(wt + ¢$n)
=2 Ecos(wt + $£) X2 Heos(wt + $1) (5.70)
TERPE B #ES h — A RN B RR IR B R i S A . 305, 700 1 — > A 48
T NV R

-1

Sav T

T
JS(t)dt: (E X H)cos($r — i) (5.71)

ﬁ¢f1%ﬁﬁ%%%%%ﬁﬁ%%o
S, A1 T D B 2 2 B 1 5 BOB S



@ MRS BR

S(t) =E(1) X H(t) = Re[Ec™ ] X Re[ He™' ]
=2Re[1§ej‘”[] X Re[I‘.IejM]

:[Ee’”” + (Ee) " X I:I-.Iej‘”r + (He")® ]

=%[E>< He™ +E" X H*@“‘]+%[FL* XH+EXH"]

%[Exﬁejz‘”’ +<Exr’1eﬂwr>q+%[<éxﬁ*>* LEXH]

—Re[E X He™ ]+ Re[EX H' ]
AR (5. 71, 7] 15 5]

S, = ZﬂJ (Re[EX He™ ]+ Re[EX H" ]}dt = Re[E X H" ]
TTJ 0

(5.72)
o "R U AL X TR S B AE R RHE RS (0 T
S(t) =EXH
B Hb AT LIAS 3 B 37 T 2 8 T A0 37 e 2 8 ) B ) SE IAE 43 0 R
T . . . .
B %Jw = %RemE CE) — %S’E “E° (5.73)
1 (7 1 - 1

Wmav — Tjowmdt - ?Re(/lc H . H ) =

2;/151 - H' (5.74)
1 22 5 357 5 7 BR AL 09 5 K0F 50 AT LA S KO 2 B E A S B L A 2
Ve (EXH )=H +VXE—E-+-VXH"
2 (5. 65) FE (5. 66)fR A L3k IFFIFIB =, HFID =¢ E =R, Al 1

Ve (EXH ) =—jouH+H —E+]J +jwcE+E"

o

E =L —Fe ft A L3 %% 2 T 2 AT B4 30 T B v T A
—ﬂ&(éxi{*) . ds =J'V LJ I

o

=P +jQ

dv+ijV<# |H|*—¢|E \2>dV—JVE,,-J'*dv

e
o8 o

(5.75)

(5. 75) RV 52 MO =X B0 Bl B A8 7 B HC A i ) P 020 31 s AR VN B A T R P

MIE Q. (5. 75) 7 vy iy i A WP S 1S DA SO A T TR B
SRR I 1] F- 249 4L 45 AR bR KA S 78 1D A F- 24 B UL 7 E R A S

B15.12 (T (p=0.]=0) i A th =3 18] v, 0 /LR 37 1 H 3 0 3 R Ok
E(z) = Ege jk:e;

R B E, HER. K. (DRGSR REH () (OWENEREIBERE S; (3) ;e
LR S. o

. (1) HVXE=—jwu, H.1%

H()= - yxE= 1

L9 (g e, —— Mo
Jwpro Jwpro dz




$5% BT HEMHE 139

N/

(2) W37 W35 10 Bk {E
E(z,1) = 2E;cos(wt — kz)e,

H(z.t) :—ﬁkE“cosw — ke,
w/xo
Fr LA, B AL 25 ) Ik s (B 0
S=EXH= 2/d;(‘)cosz(a;z‘ —kz)e.
Lo

(3) m5.72),1%

S :Re[Eoe %o, X (* @eﬂ“e‘,) }: kB¢

wpro wpo
5.7.3 BN RAENEHEAKERRF
XF T E 5% HL Y 5% g 6 Rl o 6 T 0T A B B
H:ivxfi Ml E—=—jwA— Vg (5.76)
o Y L
Ve A =—joueg
ik B DUR I5 R W S B0 X oy
VA +BA =— (5.77)
V2¢+BZ¢Z—J§ (5.78)

S fmw Ve SRR BB rad/m, K5 7R G M TT 5. 5 7 o 45 0 R A
XEE 5 OB A A . AR AR AR A R o =R B TR G 5D A
25, 52) , T B A b fik R 56 0k 3 010 1 2 B0 2430

- 1 ) lo.eij'gR /
(O 47rsjv R v .79
o[ L™
A “JV v (5. 80)

FE5.5 I AR 8 B R B B R T R IR A )R] b 2 5 R r R D
Al Y5 A 47 3] 32 5T B A R] . G S Rl U AR Ak AR AR PR U 4 R B g bk A
s AR R AR LA S DU AE PR R e DA Ul VR A 5 1) 3 3 B TRD P 08 VR O R kAR I Y
A Y P B AR A R VR B X g R AN KRR, X FIE Lok i, AR .M B
R Bf e ™1, a] IATHERVEH . XK A7 R B WL (5. 79) A=l (5. 80) , B AT 435
55 L 7 R S 1 9 v 0 R R A 0% 1Y) 22 3 U AR AL o 33k 158 W X g — B [ R U, @ R A AE
2% () £ 4 A R AR 0 1) 5 8 v 3 RV S8 0 3 04 40 A B AR W] o 3 A % ) g R0 A5 0 Dl
WA, SR8 &1

BR < 1 (5.81)
5



<$> R 5 ALK
r<<A (5.82)
PR A PE . X HLAY A S T % R 5 A — > R U N AT B R B A= T, B AZ
T 5 v il A AU 28 1 1) DX SR S R AR DX o AU AR: DX P ) I A8 3 R (A AR rEL G 3 . (LT
RURE X 2 — A AH X O BE 2

L. 7 1k o0 F N A e 37 B AR T R A o B 3000

__JB _
VXE==5" VD =p

HSOC R R
D=¢E, B=_,H., J=E
2. IR WL A TE AN [R5 43 I b A R A A
Ew=Ey, Hy,—H, = Js
Ds — Dy, = ps: Bu = B,
3. MiRELS G LRN
IA

B—vVxA M E——""—V¢

AR g G B AEY + A= — e S B AT L3 ) DU O

2 I*A
V'A — pue Era =—uJ
(72
Vigp—pe 4 =—4£
¢ at” €

KW DL R J5 R 9 AR A3 il A

B ﬁJ ](J/,y’,z’,t*%)
dr) v R

L el
R

e

o =
250N U R W T B TE 5% pR RO L AT

io¢ JG oy e ™

A 47Jv' R dv

LJ lo'(r/,y/,z/)efj'@Rd /
J R

 Ane

v

¢

ﬂu%mﬁﬁﬂﬁﬁ#}ﬁ@?ﬁ%&ﬁ%ﬁﬁ%ﬁM&ﬁuﬁ@ﬁl%%ﬁﬁ&ﬁ

Y EROAS



$55F BT HEEIG

A, HERET L —ENE R 2

S—ExXH
B AL F B S W T H R 3 v Y BE ST IE N B e A
_d( (1. 1a, .
—§JEXdesfde2E D+ LB HﬁV+LJ EdV

5. IE % LR I h B BN AE S B B BN AE R B Y A2 BOE S0

S=ExH =—§ s da=io| GBI —c E[Hav | Hlay
A A4 % c
B

5.1 Al AR L REYA 7 AE AR FRE S v P U S D B A AT R R 7 b e 7 A 5 B
JUMHL? & BEA Ak S

5.2 ald TR JLAS 7 T AL T U 5 1 RS L A

(D i 2284k518?

(2) AT LATEWR2E 9y o rh AE A 7

(3) Wi A EAE T ARON 7 B A AH [ 2

5.3 {EBERAHA B . AFAE W B= Businwt » i [8] £ 4 B B
5.9 JF 7% WA AP B0 . Il i e S 75 77 78 3R R FhL 3 44 5 IR ‘
L7 Coby

54 B e IR E A A% R 2R E T 4 3 A it
J P R 2 W

5.5 HHBEBESHFEATERAMRSE A ML FH () FEHE (b) A 1%
i3k 4R IR L, A B A D ds = 0 xPipmR B9 B

%m%mﬁﬁu.a=w,:ﬁﬁﬁﬁiﬁmxﬁv

N?E%%%ﬁﬁwasz%ﬁ%%@%mﬁiB-Mzo,:%EE%LEW

ENEGK;

5.6 AN B HL UL I R 3 T 20 L U] 4 i 9 B R AR K O 1 S R A ) 4 B A I L X
b 9 % g 2

5.7 Ml OG22 5 i = Jr R 4 A — L ] L

(D AP E RS B R = A B2

(2) R A 2 VR T 2R 43 T X A5 8807

(3) At AEE W FIE 7

(4) 2% 5 =5 J5 T 4L AE H R FEE v ) Ml A 4 e 7

5.8 AW H I A MREY SR Sl B R AR A R 2 AR RE S A
HL 3, 2 A5 s — i 5T ) AR £ 7

5.9 M—Pe& B SR T AEAT ARE NI SR o A 2 SRR N H O 7



R 5 ALK

5.10 AR L 5 R 3 fE E WL VIE E RG34 AE — LR

5. 11 IR W] % th A1 45 ThD ) 107 8% FRL IAE 25 7 PAY B8 R £ 8

5.12 FEUE A M= 8], B= Businet 5 2 22 i F 7 fedl 7 mtbfef - 4t
45 e 7

5.13  EBAEHIERE MR RS W W FE A T AR A7

5. 14 N TRV B S HL ep Mo LEAN RS 0 58 ST L K 2R 5 A8 I o 6 v 1 373 4 20 A BF
FHAEERER AL Y 15 AR B G AN R A o B b RO A e A B S B
R 1A o BT Ak 4 A 4 S5 G g 2

5.15 1 Je A8 o B 37 1) 4 5 E 7

5.16 W AEHLEE TR AT S AL R AL A il o 197 B4 A0l R AT 205 B AT IE %
CEFMT FIRE Ao S1EE R MEE @S P RAL o REDZ R A T SC ZR T S £
AHATE N AR AL 7

5. 17 T o B 7 ) RE B 7 fE E 7 LA B DA G B A W BRSSO O g R HG v 4% 0
&AL

5.18  LUIEWIAE [] il v 45 (R A A1 S R 24 D BRAEL S 40 rp 90 AT — R 40 T 1A A2 i 1) 38 ETD
JE O 1 AT I TR

5.19  FI I B ENAE E BHL AAn] SRS L A 7R 52 R B0 Y S5 R0 B S R0

5.20 B RHENAE 7E B A T i 3 rp A% 30T Ay B SCUn i g e 2

5.21 IRR AL REZ 2T L7 BRI IERAT A7 PR R A7

5.22 5 A R R A5 1) — ML IR 3 I o IR I AR R R 3 1) D B A R A AR N

5.23 T HACA T UE IR IR ALt 2 3k B DL R Oy R AR B 2% 2R

>]@ 5
5.1 KESLREE b i — R SRR R TIGES . WL S P LT A S

eI, E 5. 10 Fias .
(1) ¥ i=1,coswt » 3K [A] 1% 5 J8 N HL Bl 3 G HE A9 RS /s

a TIEZH I IR .
i [ 2w | (2) B i=1,, KAEI K DL o ) 47 V47 88 3l . SR 8% i
< ury B
. [ (3) & i = I,coswt, HEZAME X 0] 47 F 47 8% 2, 1 5K I i
B,

5.2 DM —FAMENRTNERREBEEN =
K510 5.1 0.02sin10”tA/m* , Z5 A Rl 6= 10°S/m, e, = 6. 5. 3K {7 £ 1 ¥i
5.3 BB MR B AY -4 74 L 25 48 » AR BTIE 25 0 o AR TB) FE I T A AR B, Hi L 5K
H oo HHEEN e WEFRHEN oo HHMNHEE p=U.sinwt I, SRR AT — SO0 67 5% f
5 P RGN iR B (22 W RN HLAS 25 TR R AR G 7 X L S D



%55 I B \M3/

5.4 BFEHRAESMOAZEPLEN a. b 2EER R o, KRy LA —IEZHEE o=
Unsinwt o 3 w AR BI040 5EEGEIEAE . RIS B 09608 B % 5 Ot B o
AN o 14 (BT 2 18 1) A6 A% R U  TE I O P AR A T LS AR S 1 A8 LI (a<<o<<D)

5.5 AN 5. 11 firaR s fy B AR AR A R SF- M L 2 A T AR 22 TB) SR LR o A H
WO e BEFHN po WARBARA BT, SEH A SR B IR B SRIZ ARG R B M A
i IR Z TRIAT: — 50 BB AE Ok a5, I IR B K h H AR 10 D0 R 55 T i IR AR 25 1 Tl 8

5.6 T A 7 ) LGB R A3 00 R IR

E. = 1000cos(wt —Bz)V/m
H, = 2.65cos(wt —B2)A/m
K, f=20MHz.=w jroeo =0. 42rad/m, 3K

(1) BB BN R 4

(2) PR PLENIER

(3) WA 5. 12 Frs 9 FAT 7S AR (K T, BEECET S 0. 25m™) i (114 B B T 2%

+ X

T s
Im
- Y
& 5.11 55 5.5 K K 5.12 fE5.6 K

5.7 BRMESA BTN
E = 0. 1sin(10wx) cos(6x X 10°t — kz)e,
SRARIE H LK R
5.8 [N FHEERN a=1mm, S FEFHE R b=4mm. NI T KR
WSk, WA SERZREEHR RO (e.=2. 25, .= 1,0=0), CHBZHETHBEY
5

E =510 —pBz)e,V/m
14

Krf = EUT G A i K AR A
(D #W E fRBXER LRGN
(2) K p1E.
(3) 3K H BRIk,
(4) SR 3 T ) R 2 2
(5) RUTHhZ 0<<=<<1 B9 m X Bh BN R HEL i .
5.9 THIZNAE N A @ 43 (EA AR R)
A= (1/2)(a* + y)sin ate. + V ¢;
o =—3J¢/dt
o EE R« ZH . K E.B.



\m/ MRS BR

5.10 FEXHAMYAR T A T BRI AZ i

E = 30m:os<wt — %y)ez\//m

H = 107rcos(wt *%y)e,.A/m
HABH =1, MERHFE KL o Fe..
5.11  ELRAIE 5% W 37 1) v, 37 Bk
E(z.1) = 0.03cos(10°xt — Bz)e, + 0. 04sin<108m‘ — Bz — %)el
JE I
(1) B EIE A
(2) 1Y 0 S 08 R B IEHEL



